list of IMS-85 explode diagram

560 top cover plate

560 ice outlet cover plate
S50 ice outlet decorate plate
lights PCB

M25A up-side front plate

M25 middle cover plate

power switch

lights stick paper

M25A pipe for ice full sensor
ice full sensor
ice full sensor

M25 stainless steel slide door

M25 plastic slide door_( optional )

middle size ice spoon

M25A down-side plate

M25A plastic cabinet

M25 cabinet front mounting plate
M25A right plate
M25A cabinet foam insulate

condenser temperature sensor L1200

710UF50 condenser

[fan motor 15050B2HL

M25A base plate

QD110HG

feet M8

copper 3-way connector
copper filter

coil of electric valve

body of electric valve F-2.0

capillary S30

A 130-62

bellows pipe 14-14-300
3-way drain pipe

bellows pipe 14-14-300
with inner screw 1/4”

\water inlet ‘with out screw 3/4"

rear ventilate fence M25A

water valve mounting plate S30

cable inlet tight clip

drain pipe 14-1500

[water inlet pipe 3/4"-1500
silic gel pipe 9-560

\water drain connetor

nut of drain

T shape silica block

head nut of drainage connector

power cable and plug
rear cover plate M25

drain connector of cabinet
silic gel gasket 28-38-2

nut of drain of cabinet
water iniet pipe PE 1/4°-850
M26 cabinet back plate

cable fixed clip

M25A left plate

M25A water collector
fan motor 12038B2HL
cover of PCB box

box of PCB

PCB control

reduction gearbox RV030-20

flake motor 51K60GN-CFP
60W flake motor support
Middle mounting sheft S60
water sensor

silica gel spray pipe

tow-way connector PP-12-50

water float switch

float water inlet valve

\water tank

cover of water tank

|assemble flake evaporator FE60

copper shaft sieeve 10-35

steel bolt M8X68

copper shaft sleeve 10-25

stainless steel washer M8

steel nut M8

fan motor mounting support FS12038

GELECCAEOR LR
CEELECERR L
CCCLRCLERO

L0

LA
RRREA
ler \es\eslao o1 \s2

il
i
il M-

o \‘H‘M
‘I}’\Hﬂ )

|
I ;"




